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G.

. Which of the following is Null set?

A {zeZ:z®=-1}

B) [z €Q:v2 <3}

C){z €Z:x+# 2N ziseven prime}
D)z eZ:x?=1}

If A, B and ' are non empty sets and A’ denotes the complement of set A . then which@fthe
following is not TRUE?

A)A—-B=Anp

B) (C-A)U(C—-B)=C-(ANB)
C)(A-BY-AunB

D)y A—B=AnH

. 1
. If zy # 0 and 3z = 0.3y then i _

T

A) 0.1
B) 1.0
C) 3.0
D) 10

. Which of the following statement is not TRUE rclated to set A = {& € Z: z is perfect square}

A) A is infinite
B){Vr:z e A}=¢

. 25%(110) 085 (250) <

B) 35
C) 19

D) 55

Hgand g are integers such that p > n > 0 and p? —n”? = 12, which of the following can be the
valueol p —n?

M 1
(1) 2
(1) 4
A) L only
B) II ouly
() II and IIT only
D) I, II and III

(go on to the next page) Page | 1
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. If a varies directly as b?, and a = 14 when b = 2, then what is value of a when b = 5?

-1

A) 0.27
B) 0.33
C) 0.42
D) 0.66
9. What is the perimeter of the quadrilateral bounded b¢ the fourieorners, (5,3), (5, —=5), (=3, —1),
and (—3,3)?

A) 6v/5
B) v/100
C)

24
D) 20+ 4v/5
10. If % —3= Q('TS_ l), then = =
A) 11
B) 13
C) 22
D) 26

11. Hatim bought anbike for Rs. 135, 000 and sold at 62% profit. The sale price of bike in rupees is

A) 218,700
B) 83,700
C) 735700
D)8, 700

12:°Which of the following is a rational number:

=
[EEY

4

'
.

<&

i
L3

Z

one of the above

A)
B)
C)
D)

(go on to the next page) Page | 2
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Which of the following numbers is NOT a perfect square:

A) 3969
B) 6084
C) 3872
D) 12321

The perimeter of a rectangular park whose length is three times of its width and the area is
720.75m? 1s

A) 124m
B) 224m
C) 324m
D) 424m

5. Let L be the least common multiple of 175 and 105. Among all of the €ommon divisors z > 1

of 175 and 105, let L be the smallest. Which is correct of thédfollowing:

A) D=5 and L =1050
B) D =7Tand L =525
C) D=5and L =525
D) D =7 and L = 1050

After 32 years from now, a boy will be 5 times as old ag he was 8 years back. How old is the
boy now?

A) 50 years
B) 40 years
C) 30 years
D) 18 years

What is the smallest mtegér divisible by both 21 and 18 7

If n and s are odd integers, then which of the following must also be an odd integer?

N
i
ay -

(I  (mn+1)*

A) I only

B) IIT only

C) I and II only
D) I and III only

(go on to the next page) Page | 3
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19. 4%

20.

[Re]
S

24,

The surface area of an oil drum whose length is 1.6m and the diameter is 63cm 48

A) 37917cm?
B) 10080cm?
C) 5040cm?
D) 2520cm?

. An integer greater than 100 has its unit digit twice that of its tens digit. The hundreds digit is

25 percent of the tens digit. Tf the sum of all the digits is 13, what is.tha'walue of the integer?

. The use of a neighborhood car wash costs n dollars for a membership and p cents for each wash.

If a membership includes a bonus of 4 fi€e washes, whieh of the following reflects the cost, in
dollars, of getting a membership at the/¢ar wash and washing a car g times, if ¢ is greater than 47

A) 100n + pg — 4p
B) n + 100pg — 25p
)

Pqg P
D 2 -
)7+ 100~ 25

Ali has 4 more hats than Mahd and half as many hats as Arish. If the three together have 24

hats, how aftanv hats‘does Arish have?

A)
)i
)1
)

OO W
n—ll»—lt.o—q

The diameter of the wheel of Ahmed’s bicycle is 0.72m.The bicycle wheel completes 730 revo-
lutions when Ahmed comes from school to house. Find the distance in meters between school
and house?

A) 1695
B) 848

C) 169500
D) 843800

(go on to the next page) Page | 4
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25. The sum of first 50 natural numbers is
A) 505
B) 1275
C) 2550
D) 5050

(*—9°)
:55 + 3’..'4y + $3y2 S 3:2'9'3 + .’.E’y4 + yﬁ

26. If x — y =7, what is the value of

A) 49
B) 21
C)
D) Can’t be found.

27. Which of the following fraction is the smallest?

O ws] =
l‘JlH Wl =1 DO | W
= | o

=

28. The matrix A = (

A) Symmetric
B) Skew-symmet
C) Diagonal
D)

Scalar

29. fa+b 2 = 37, then what is the value of ab?

+3 — 97%¢—4 what is the value of =7

EoE#s
L
O D W

(go on to the next page) Page | 5
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31. Which of the following is PRIME number:

A) 19841987
B) 20152017
C) 19981999
D) 20022003

32. The number of real roots of equation |z|? — 5|z| +6 = 0 is

1
2
3
4
33. If the sum of the roots of : (a+1)z2—(2a+3)z+(3a+4) = 0is —1, then t

A)1

B) 2

C)3

D) 0
34. If a, f are the roots of equation 222 — 3z — 5 =

A)z> -5 —6

B) 422 — 29z + 25
C) 522 + 3z — 2

D) 10z* + 29z + 10

tanx — sinx cos
36. -

tanx
A)1—sinz
B) tanz + 1
C) cos®x
D) sin’z

(go on to the next page) Page | 6
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37. Kamran read 60 pages of a book on the first day. This was 20% more than the number of pages
he read on the second day. Given that he read /6 of the book on the second day, what were the
total number of pages in the book.

A) 72

B) 250
C) 300
D) 600

38. The amount of petrol in the fuel tank of three cars A, B, and C are in the ratio 8 : 106 13.
If the tank with the smallest amount of petrol has 52 liters of petrol, find the difference
amount of petrol in the other two cars.

A) 16.5 liters
B) 17.5 liters
C) 18.5 liters
D) 19.5 liters

39. The numbers 2, 3, 5, and 7 are written on 4 cards. Two of these ¢ re selected at random
to form a two digit number. What is the probability that er ed is even?

A)/2
B)Y/a
C)Y/a
D) /s

40. Pick out the correct statements from thi ollowing reg
(I) A prime number may be eyén. :
I1) The product of two prime numbérs

( _.
(III) The product of an even number g
(

ing integers, from the options provided.

yope even.

Statements (1),
Statements (1I)

(go on to the next page) Page | 7
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43. Let x be the real number such that sin(sinz) = 1/2 and 2 < ¢ < 3. What's the value of
cos(sinx)?

44, 1()0'10 ].“UU

A) 3
) 4
) 3.4
) 4.3

caQw >

45. How many distinct ways exist to draw a samplefof twa balls without replacement from a bag
containing 10 red and 4 blue balls?

A) 91
B) 20
C) 40
D) 210

46. Suppose that a word means any permutation of a given number of alphabets, whether they have
literal meaning or are mieaningless. Insuch a case, how many distinct permutations are possible
from a pool of 8 distinet alphabets for forming a 5-lettered word, so that none of the letters are
repeated within ahy word?

A) 32,768
B) 6,720
C) 56
D)n60

gl © = M then what is value of 23 + L
V5 + V2 x?
2366
27
178

A)

D) Cannot find from given information

(go on to the next page) Page | 8
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48. Pick the ordered pair which gives the solution to the following system of linear equations.

10z — 3y =4
13z+y=1

A) (2,3)

B) (323, —14/23)
Q) (725, —2fos)
D) (Yr,—5/7)

49. A jar contains five red balls and four black balls. A ball is drawn at random from the jar-and
then replaced; then another ball is picked. What is the probability that both balls are red?

A) 10/g
B) 25/s1
)1

D) 20/s1

_ 1
71 R T
N S+1+ 3+t ta
417
433
4.50
5.00

go=m =

If you finish before time.is called, you may check your work on this section only.

This is the end of Mathematics MCQs. Next section is English MCQs.
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For questions 51-61, decide which answer (A, B, C or D) best fits each blank.

Women are less likely than men to negotiate for themselves for several reasons. First, they often
are socialized from an early age not to promote S1. own interests and to focus.dnstead on
the needs of others. The messages girls S2.  , from society in general, 53. be so
powerful that when they grow up they may not realize that they’ve internalized this behavior, or
they may realize it but not understand how it 54.  their willingness toegotiate. Women
tend to assume that they S85. be recognized and rewarded 56.  working hard and doing
a good job. Unlike men, they 57. taught that they can ask for'mote. * Second, many
companies’ cultures penalize women when they try to negotiate —<further discouraging them
from doing so. Women S8, assertively pursue their own ambitions.afid promote their own
interests may be §9.  as pushy. They frequently see their work devalued and find 60.
ostracized or excluded from access to important information. These responses from their
colleagues and supervisors may not be conscious or part of any congerted effort to hold women
back. More typically, they’re a product of society’s ingrained expectations about how women 61.
act.

51. A there
. their
. its
her

[ @vs)

52. A. recieve
. receive
. recerved

. receives

53. A, would
shall
can

must

54. affect
effect
aftects

Leffects

shall
might
.will

. could

35.

> DOWP ol cowr TOwR ©

56. A. by
. from
. upon

D. for

0w

(go on to the next page) Page | 10
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57. A. isn’t being
B. aren’t being
C. hasn’t been
D. haven’t been

58. A. that
B. which
C. whom
D. who

59. A named
B. labeled
C. identified
D. marked

60. A. themselves
B. theirselves
C. thereselves
D. them

61. A. should
B. would
C. can
D. must

For questions 62-72, decide which answer (A, B, C or D) best fits each blank.

62. This book 1s even thanthe last one!
most boring

boringet:

more bormg

far boring

OSOoRE e

63’1l meet you I finish work.
if

when

as

SO

o0 Ee

64. We're getting married March.
A in
B. on
C. at
D. by

(go on to the next page) Page | 11
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63.

66.

67.

68.

69.

70.

71.

72.

BY CROSSING THE CORRESPONDING LETTER

If you steak for a long time, it goes hard.
A cook

. are cooking

. have cooked

. cooked

wl @ Rov

you outside the cinema, OK?
ll see

. am going to see

. am seeing

see

oOowpE

I not be home this evening. Phone me on my mobile.
A. can

B. could

C. may

D. should

I'm I can’t help you with that.
A. apologise

B. afraid

C. regret

D. sad

It was really this moming. I couldn’t see anything on the roads.

A. cloudy
B. sunny

C. icy

D. foggy

Can you look my dog while I'm away?
A for

B. at

C. to

D. after

If I"d started the work earlier I it by now.
A would finish

B."had finished

C. will finish

D. would have finished

This time next year I in Madrid.
A. am working

B. will work

C. will be working

D. work

(go on to the next page)
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Questions 73-73: Sentences given in each question, when properly sequenced, form a
coherent paragraph. The first and last sentences are 1 and 6, and the four in between are
labelled a, b, ¢ and d. Choose the most logical order of these four sentences from among the
four given choices (A, B, C, D) to construct a coherent paragraph from sentences 1 to 6.

73.
1. Horses and communism were, on the whole, a poor match.
a. Fine horses bespoke the nobility the party was supposed to despise.
b. Communist leaders, when they visited villages, preferred to see cows and pigs.
¢. Although a working horse was just about tolerable, the communists were right to be‘wary.
d. Peasants from Poland to the Hungarian Pustza preferred their horses to party dogma.
6. “A farmer’s pride is his horse; his cow may be thin but his horse must be fat,”>wwent a Slovak
saying.
A. acdb
B. dbca
C. abed
D. dcba

74.
1. Making people laugh is tricky.
a. At times, the intended humour may simply not come off.
b. Making people laugh while trying to sell them something is a tougher challenge, since the
commercial can fall flat on two grounds.
¢. There are many advertisements which do amuse but do not even begin to set the cash tills
ringing.
d. Again, it is rarely sufficient for an adveftiser simply to amuse the target audience in order to
reap the sales benefit.
6. There are indications that in substituting the hard sell for a more entertaining approach, some
agencies have rather thrown out the baby with the bath water.

A, ¢dba
B. abed
C. badc
D. dcba

75.
1. According to recent research, the critical period for developing language skills is between the
ages of three and five and a half years.
a. The tead-to child already has a large vocabulary and a sense of grammar and sentence
structure.
baChildren Who are read to in these years have a far better chance of reading well in school,
indeed, of'doing well in all their subjects.
¢ And the reason is actually quite simple.
d. This‘eorrelation is far and away the highest yet found between home influences and school
suceess.
6. Her comprehension of language is therefore very high.

A. dacb
B. adcb
C. abed
D. bdca

(go on to the next page) Page | 13
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Questions 76 & 77: The sentences given in each question, when properly sequenced, form a
coherent paragraph. Each sentence is labelled with a letter. Choose the most logical order
of sentences from among the given choices to construct a coherent paragraph.

76.
a. This very insatiability of the photographing eye changes the terms of confinement in the cave,
our world.
b. Humankind lingers unregenerately in Plato’s cave, still revelling, its age-old habit, in mére
images of truth.
¢. But being educated by photographs is not like being educated by older images drawn by hand;
for one thing, there are a great many more images around, claiming our attentions
d. The inventory started in 1939 and since then just about everything has beengphotographed, or
so it seems.
¢. In teaching us a new visual code, photographs alter and enlarge our notions of what is worth
looking at and what we have a right to observe.

A. eabed
B. bdeac
C. bedae
D. ecdab

77.
a. To be culturally literate is to possess the basic information needed to thrive in the modern
world.
b. Nor is it confined to one social class quite the contrary.
c. It is by no means confined to “culture™ narrowly understood as an acquaintance with the arts.
d. Cultural literacy constitutes the only sure avente of opportunity for disadvantaged children,
the only reliable way of
combating the social determinism that now€ondemns them.
¢. The breadth of that infermation is great, extending over the major domains of human activity
from sports to science.

A, aechd
B. decba
C. ached
D. dbcag

Questions 78 — 81, read the poem and answer the questions.
Apparently with No Surprise.

Apparently with no surprise

To any'happy flower,

Thesfrost beheads it at its play

In accidental power.

The blond assassin passes on,

The sun proceeds unmoved

To measure off another day

For an approving God.

(go on to the next page) Page | 14
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78.
Which of the following most nearly describes the author's attitude toward nature as expressed in
this poem?
A. delight
B. dismay
C. indifference
D. reverence

79.
What is the blond assassin referred to in the poem?
A. the flowers
B. the frost
C. the sun
D. God

80.
The poem implies that the attitude of the flowers toward the frost.is one of
A. fear
B. horror
C. acceptance
D. reverence

81.
The tone of the poem implies that the speaker probably regards God as
A benevolent
B. just
C. cruel
D. angry

For Questions 82- 84, read the following poem is by Alfred, Lord Tennyson and select the
best option.

The Fagle

He clasps the crag with erooked hands;
Close to.the sun in lencly lands,
Ringed with the azure world he stands.
The wrinkled:sea beneath him crawls;

He watches from his mountain walls,
Anddike a'thunderbolt he falls.

82:
Given the tone of the poem, and noting especially the last line, what is the eagle MOST likely
doing in the poem?
A. dying of old age
B. hunting prey
C. learning joyfully to fly
D. keeping watch over a nest of young eagles

(go on to the next page) Page | 15
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83.
To which of the following do the underlined words azure world most likely refer?
A. aforest
B. the sky
C. the cliff
D. nature

84,
In the second stanza, first line, to which of the following does the verb crawls refer?
A. waves
B. sunlight on the water
C. the cagle's prey
D. the eagle itself

For Questions 85- 87, read the passage and select the best option:

The word vodoun 1s believed to have come from the West' African country of Beninat one time
called Dahomey. The Dahomey word vodu, means geds and at some point in history was
transformed into the word voodoo which s now considered a pejorative. The etymology of the
word lends credence to the idea that vodoui 1s best understood as a revision of various African
religious beliefs. In spite of this Afriean foundation, however, vodoun is best known in its
western hemisphere incarnation as the mational religion of Haiti. In the United States, the
practice of vodoun 1s protected under freedom efseligion principles, although some communities
have occasionally tried to outlaw the practice of certain of its rites. With an essential basis in
spiritualism, the most common. ceremenies of vodoun feature priests and priestesses who become
conduits for spirits whichare asked to protect devotees and to assist the priests or priestesses in
foretelling the future.

Vodoun is sometimes described, by those unfamiliar with it, as superstition, but it is not.
Superstition isithe beliet m things that are known, or commonly believed to be, untrue. (There is
no scientific evidence; for example, that breaking a mirror will result in seven years of bad luck.
To believe that it will, then, is superstitious.) However, although most mainstream religions in
the United States now are monotheistic, most of them do ask practitioners to believe in a god
who can intercede in human interactions and protect believers from harm. This is no different
from the beliets of vodoun practitioners.

8s.
Theswriter's main purpose in writing this selection is to
A. describe the rites involved in the religion of vodoun
B. argue that vodour is, in some senses, a superstition
C. persuade readers that vodoun is a valid religion
D. explain the etymology of the word vodoun

(go on to the next page) Page | 16
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86.
Which of the following best defines the word etvmology as it is used in the first paragraph of the
selection?
A. the science of defining words
B. the science of uncovering the origin of words
C. the science of explaining the symbolism of words
D. the science of word construction

87.
Which of the following statements from the selection indicate the writer's opinion, rather than
fact?
A. Vodoun 1s the national religion of Haiti.
B. In the United States, some communities have occasionally tried to eutlaw the practice of
certain vodoun rites.
C. The belief in mainstream religions that a god can intercede in human affairs is no different
from the beliets of vodoun practitioners.
D. The word vodoun is believed to have come from the West African country of Beninat one
time called Dahomey.

For Questions 88-89, read the passage and select the best option.

Like human beings, ants can be both cooperative and aggressive towards one another; in fact,
certain species of ants survive by raiding othet ant colonies and enslaving the offspring.
Scientists believe that these “slavemaker™ ants ¢annot survive on their own and need other ants
to take care of them. The only wayuin which they can achieve this is by raiding other colonies
and seizing the larvae and pupae; they then carry them back to their own colonies and raise them
as slaves. Once their slaves die, they raid new colonies, capture new larvae, and acquire a new
supply of slaves.

88.
The author wrote to ;
A. illustrate the umisual way in which certain ant species survive
B. convince the reader that ants can play a beneficial role
C. compare and contrast the distinct roles that ants play
D. amuse the reader with amusing facts about ants

89.
The author’s tone is
A. hopeful
B. entertaining

C. informative
D. forceful

(go on to the next page) Page | 17
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For Questions 90-92, read the passage and select the best option.

Law enforcement officers often do not like taking time from their regular duties to testify in
court, but testimony is an important part of an officer's job. To be good witnesses, officers
should keep complete notes detailing any potentially criminal or actionable incidents. When on
the witness stand, officers may refer to those notes to refresh their memories about particular
events. It 1s also very important for officers to listen carefully to the questions asked by the
lawyers and to provide only the information requested. Officers should never volunteer
opinions or any extra information that is beyond the scope of a question.

90.
According to the passage, an officer who is testifying in court
A. may be questioned by both the judge and the lawyers
B. should volunteer his or her time as an important civic duty
C. may appreciate taking a break from routine assignments
D. may refer to his or her notes while on the witness stand

91.
The paragraph best supports the statement that a poor police withess might
A. rely on memory alone when testifying in court
B. hold an opinion about the guilt or innocence of a suspect before the trial is over
C. rely too much on notes and not enough on experience at'the crime scene
D. be unduly influenced by prosecution lawyers when giving testimony

o2,
According to the passage, testifying in gourt is
A. a significant part of a law enforcement officer's job
B. difficult, because lawyers try to get witnesses to volunteer information
C. less stressful for police officersithan for other witnesses
D. often futile, because criminals frequently get off on technicalities

For Questions 93-95, read the passage and select the best option.

Detectives who, routinely investigate violent crimes can't help but become somewhat jaded.
Paradoxically, the wictims and witnesses with whom they work closely are often in a highly
vulnerable and emetional state. The emotional fallout from a sexual assault, for example, can be
complexand long lasting. Detectives must be trained to handle people in emotional distress and
must be sensitive. to the fact that for the victim the crime is not routine. At the same time,
detectives must recognize the limits of their role and resist the temptation to act as therapists or
social workers, instead referring victims to the proper agencies.

93.
What is the main idea of the passage?
A. The best detectives do not become emotionally hardened by their jobs.
B. Victims of violent crime should be referred to therapists and social workers.
C. Detectives should be sensitive to the emotional state of victims of violent crime.
D. Detectives should be particularly careful in dealing with victims of sexual assault.

(go on to the next page) Page | 18
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94.
According to the passage, what is paradoxical about the detective's relationship to the victim?
A. Detectives know less about the experience of violent crime than do victims.
B. What for the detective is routine is a unique and profound experience for the victim.
C. Detectives must be sensitive to victims' needs but can't be social workers or psychologists.
D. Not only must detectives solve crimes, but they must also handle the victims with care.

95.
Which of the following is NOT advocated by the passage for detectives who investigate violent
crimes?
A. They should refer victims to appropriate support services.
B. They should be aware of the psychological consequences of being vietimized.
C. They should not become jaded.
D. They should not become too personally involved with victims' problems.

This is the@end of English MCQs.

If you finish before time is called, you may check your work on this section only.

THE END

(You cannot go back to Math section) Page | 19
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